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1 (a)

Basil records the types of fish that he caught during his holiday in The Bahamas.

(i) Complete the table.

Type of fish Tally Frequency
Mutton Fish 111 &
Grouper 1 3
Jack HH HHI 11 i ;2
Schoolmaster |+ TIII 9
Total Q\ 8
(3)
(ii) What fraction of the fish are Mutton Fish?
Give your answer in its simplest form.
T I
AR +
i 2)
+
(b) This table shows the types of fish that Peter caught during the hohday """"""""""""""""""""""""""
Type of fish | Mutton Fish Grouper Jack Schoolmaster
Frequency 4 6 5 X
She has finished the first row of a pictogram to show the
results. Complete the key and pictogram.
Key: #¢ e represents ;2 fish
Mutton Fish | #Zs= 827w
Greups = S X
Jack > x> D
Schoolmaster o T
(4)
[ElzsE
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(c) 500000 people record the types of birds in their
gardens. In total, they record eight million birds.

On average, how many birds does each person record?

g'ooo,@oo - Ve - ie
T RO, SO O S

(d) Here is a list of the birds at a bird table.
robin robin sparrow blackbird

blackbird starling blackbird robin

One bird flies away.
Another bird arrives at the bird

table. ) )
The new mode is robin.

What type of bird flies away and what type of bird
arrives? Complete the table.

Type of bird
Flies away Bl ackbird
Arrives QO b a)
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starling
blackbird
(2)
(Total 14 marks)




2 (a) The bar chart shows the amounts Isaac saves in May. June and August 2010.

Savings

80

Amount (£) 50 Bk

May June July August

(i) Hc

(1))  From May to August he saves £250 in total.

Complete the bar chart by drawing the bar for July.
LSO - (ro 4+ 2o + 6O )

= 250 - 1go = {7o
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(b) The pictogram shows the amounts Isaac saves in the next four months.

Key: represents £20
May -L% )
June f SO
July £30
August £ +O

Work out the range of the amount he saves in these four
months. You must show your working.

BO-30 = 5O
| -
L he ‘ T =hr]
RO\QZ)Q = HMadmupm — AL A

(¢) (i)  For the next 4 months he saves £50 each month.

How much has he saved in total?
w(s2)= {200

Total :’joxvir\(f)s ] 1Sy 4 2930 + Do = «£(.§O

(i)  Isaac spends 50% of these total savings to pay for a holiday.
How much does he pay for the holiday?
S—D £ — ._,l— [ - ‘
SO% of Lo = 5 x 680 = 5 (680)= {340
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3. Is money discrete or
continuous? Tick a box.

\/ Discrete Continuous

Give a reason for your answer.

Like Aanvy Aiscr<ke variable | roney can be rmweasureed o
fq'mc\lci(?ied mack{k) as & can mﬁ\o toRe a Umited [or Fénik«a’)g

| set vaqﬂuxz_s v a'\n\:) %'1\,:21\ Lﬁtwvcu(- W

Peter sells revision guides on a

website. The sales in May are

shown.
Sales (£) Frequency
8 10
10 18
12 s
15 4
20 1
| (a) Caleulste hiemean prie;
on s oo 198)+ El0)+ Hiw)+uls) + 1(a0)
iﬁ” 1O + 18 +F &+ 4+ + 1
. %%L = i o £1Q:59
| 3)
(b) Peter says that his modal price and his median price

are both £10. Is he correct?

Give reasons and working to show how you decide.
Hode = -E 1O LM%\- Fr o.e;twf(\kl\j gc;c_s.&rr'tf\é pr'\ ce )

M'Q_GLJ\O\(\ = % l O .aa {)QL e LS C{()((":L(/t' i
\L 93~ 2 2 data oot te. flo+io L1y

(f\vgop)p el )(__________:-.EO _

!.9\ E" E
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(¢) Georgina also sells revision guides on
a website

Georgina's sales

Frequency

0 8 10 12 14 16 18 20
Sales

Give one similarity and one difference in the sales of Peter and Georgina.

Similarity ... \2%%.2.0_aoel . (zéﬁéjmafpmohﬂ ..... Priges are
S N A Vo N
Difference .. (T.220 504 Sele2  owe o ccealer medion
prics..eb f12 compaced Lo Patecs medion of {10,
2

(Total 10 marks)
EzxE
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4. Kelsi rolled a dice 10 times.

Here are her scores.

(a) Find the mode.

(b) Work out the mean.

Mean = 2 X 24 - 9.4

a 1O

(c) Work out the range.

chd\ée_ - tHlax - min = L — | -
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5. Here is a list of the fruit 24 people liked best.

cherries strawberries

cherries

rasberries strawberries plums

rasberries cherries strawberries  plums rasberries rasberries
rasberries cherries cherries plums strawberries strawberries
plums rasberries strawberries  strawberries  plums strawberries
(a) Complete the table for the information in the list.

Fruit Tally Frequency

cherries L =

plums T .9

rasberries hne N G

strawberries T 1L %y

()

(b) Draw a suitable diagram to show this information in the table.

Use the space below.

f:rutwmv) "

Frequen ey Pae Chact

<P !JJ'B\{D
Swn) d
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Male Female
First year 397 608
Second year 250 210

The table gives information about the numbers of students in the two years of a college

course.

Hanna wants to interview some of these students.

She takes a random sample of 50 students stratified by year and by

gender.

Work out the number of students in the sample who are male and in the first year.

29F

U9F+60% + 250 +AlO

il

5P . = |

............................

lhes (Total 3 marks)

= | (to Nesr o ir\te;(j)e_m )
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7. Tara carried out a survey of the number of school dinners 34 students had in one week.

The table shows this information.

Number of school dinners Frequency Fx (i Pxx
0 0 '®)
1 8 T
2 12 2H
3 7 2
4 5 W
5 2 (O
= g Xk 8
Calculate the mean. Z & 3
Heﬁ\ﬂ = YJC_ OR Z FDC - % - ‘).,Ll(’l’ (35‘: )A‘

¢ = F
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8. Sophie asked 32 women about the number of children they each had.

The table shows information about her results.

Number of children Frequency ~oc
0 9 )
1 6 4
2 7 i &
3 8 .4
4 2 %
more than 4 0 O
= 33 5%

(a) Find the mode.

(b) Calculate the mean.

|"”l@\r\ - z F\-X' - __5__%._
= f 3

Lots more free papers at www.bland.in

(Total 4 marks)




9. The table shows some information about the ages, in years, of 60 people.

e 2™ and 77

| aSt dato volu s,

(@) Write down the modal class.

David says

David is wrong.

(b) Explain why.

Frequency
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15 H+

e
<

v eh mugt lie in the class

Age (in years) Frequency Cumnulative Freg .
0to9 6 &
10 to 19 13 19
20 to 29 12 3D
30 to 39 9 G4 O
40 to 49 7 4+
50 to 59 4 5
60 to 69 9 Lo [
1O ko 19
1)
‘The median lies in the class 30 to 39°
The. median in this case will be the average off (o
gen. 20 khe 3G and 317 person
20 ko 39, 4y

NI L

| ]
IEEEREEE BEE
|

fffffffffff T e e
0 10 20 30 40 50 60 70
Age (years)
(c) On the grid, draw a frequency polygon for the information in the table.
@ Esmm

(Total 4 marks) iil




10. 60 students take a maths test.
The test is marked out of 50.

This table shows information about the students’ marks.

Maths mark |0-10

11-20

21-30 (31-40 |41-50

Frequency 5

13

Ly

19 6

On the grid, draw a frequency polygon to show this information.

A

20 |
\
15 \
y X
\
Frequency \\
10 /
/
/ \
/

5
0 .

0 10 20 30 40 50

Maths mark
(Total 2 marks)
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11.  The table shows some information about the weights, in kg, of 100 boxes.

Draw a frequency polygon to show this information.

30

25 =

20 +

Frequency

15 =

10 =

Weight of box (w kg) Frequency
O<w<g4 1l
4<wg8 16
8<wg 12 29
12<w<g 16 26
16 <w < 20 20

- 8 12

Weight of box (w kg)
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12. The frequency table gives information about the times it took some children to get
to school one day.

Time (f minutes) Frequency
0<7< 10 4
10<r<20 8
20<r <30 14
30<t< 40 16
40 <7< 50 6
50 <t < 60 2

(a) Draw a frequency polygon for this information.

r 3

25
20

15
Frequency

10

5 \,(
0 —>
0 10 20 30 40 50 60 70

Time (minutes)

2)

(b) Write down the modal class interval.

One of the children is chosen at random.

(c) Work out the probability that this child took more than 40 minutes to get to

school.
'P(H‘Q('Q, than KO m'\ns) - b+2 B - _”."_.._ il
i o) SO 1S e

oc O-\6 @)
(Total 5 marks)

EzE
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